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MGT 31603: Project Management Academic Year:

Instructions

® Answer all questions.

Question 01

a. Discuss the main characteristics of projects.
b. Explain the work breakdown structure with an example.
Briefly explain the different aspects a project manager should consider when

(@]

conducting a feasibility analysis.

Why are cost and time estimations such an important part of project planning?
Explain how project Milestone Analysis and Tracking Gantt Chart could be used in
project monitoring and controlling.

(05 marks each: Total 25 marks)

Question 02

a. Consider the following project tasks and their identified predecessors and respond to
the questions:
" Activity | Expected Duration (Wecks) | Predecessors |
—
B 6 A
- C 2 A
D -j 2 A
E | 8 | B,C |
F ‘ 6 D, E
G ' 10 F
H | 3 I G
I 18 ! F
T 7 T HT
i. Draw the network diagram. (05 Marks)
it. What is the critical path? Which activities have slack time? (05 Marks)
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b. You are considering whether or not to crash a project. After asking your operations
I

manager to conduct an analysis, you have determined the "precrash” and "post-crash"

activity durations and costs, shown in the table below.

| Activity | Normal Duration Normal Cost | Crash Duration Crash Cost |
} (Weeks) (Rs. in Millions) | (Weeks) (Rs. in Millions)
A 5 10 | 4 L
. B 6 24 6 24 '
—c | 2 20 o 21
I U I O N R
1 E 8 , 24 4 48 %
F ' 6 - 54 3 99
G | 10 84 8 | 86
H 3 48 | 2 1 60 |
I 18| 180 17 250
J 7 |77 6 127 ]
i.  Calculate the per-day costs for crashing each activity. (05 Marks)
ii.  Which are the most attractive activities for crashing? Why? (05 Marks)

iii.  Using a diagram, show the relationship betwees cost and weeks saved in a crashed
project. (05 Marks)

(Total 25 marks)
Question 03

a. Consider a capital investment whose net present value (NPV) has the following

distribution:

| NPV (Rs. Millions) | Probability

400 | 0.1
450 025
‘ 500 0.3
550 0.25
600 0.

Determine and explain the statistical risk measures listed below:
I

i. Range
ii.  Standard Deviation
iii.  Semi-variance.

(05 Marks)



b. Assume you are the financial director of Meliya Rice Mills. Ginisena, the owner of Meliya
Rice Mills, is considering establishing a new mill near Tissamaharama. Ginisena's project
team developed the figures shown in the table below based on previous experience.

B (Rs. ivr;hM'iHions) !
| Year0 | Year 1-20 |
1. Investment ) ooy |
2. Sales | 3600
3. Variable Cost (60% of sales) | | 2160
| 4 FixedCost _ | [440 |
5. Depreciation 100 |

You are aware, however, that the underlying variables can vary widely, and you want to
investigate the effect of such variations on the NPV, so you define optimistic and pessimistic
estimates for the underlying variables, and the values are shown in the table below.

v‘ﬁ Key Variable Pessimistic Expcctedﬁ Optimistic

T Investment (Rs. in :\zillions) o 106()0 | 206()7 1500

| Sales(Rs. inMillions) | 2500 | 3600 5000

| Variable costas a percentage of sales | 90 w0

| Fixed Cost (Rs. in Milli;);]s) _ 600 Aif : *';’40 1 721—0(;A
¢ I

Answer the following questions using the information provided above and assuming a 10%

cost of capital.

i. Conduct a sensitivity analysis and explain how the results help project managers make
informed decisions. (05 Mark)
ii. Perform a scenario analysis based on the same three identified scenarios and explain
the results to determine the project's risk. (05 marks)
iii.  Calculate the financial break-even point under the expected condition for the new

mill and describe how these figures can be used for decision-making. (05 Marks)

(Total 20 marks)
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CUMULATIVE PRESENT VALUE TABLE
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Some Important Formulars

Standard deviation o = [Z Pi (X; — X )*]\/?

Variance = [Z Pi (X; — X)*]

Coef ficient of variation CV =
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Standard deviation

Expected Value




